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Redox oxidation Reduction today
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Energy Equilibrium d
Acid Base Thursdaypit

Open Final Exam Wednesday night Satnight
same structure as last exam

also a few questions that need to be done
on paper submitted as pdf

ex Solubilityquestion

Everything needs to be
turned in by

Sat night



ReactionStoichianety

Howmanygrams
of carbon dioxide are obtained

When 132.7g of octane
are burned

octane Colt carbondioxide coz
Combustion

Balanced ChemEq

2 Colt Eo ECO He

C 8 C X 8

H 18 H Y 18

O f 25 01 31 17425

MolarRatios
y

2Cott t 2502 16CO2 18H2O

132.7g g

Parceproblem using the eq as a template

Road map

got moleA mole B g is

gcottottthiecoit.esmolecozttgEo
I

2 moleCotto themole CO2



Any molar masses

Cotto 8 12.01 18 1.008 96.08

1411 114.22gmole

coz 12.01 2 16.00 12.01

44 44orgmok

ExactCalculation
coefficients

BE.to TEEEI EIEE5

409EE4090gCOz

o
s



MolarRatios
y

2Cott t 2502 16CO2 18H2O

six
dgas 0.700g uh

galCott L Cotto ML Cotto g
Cotto moleCotto molecoz

lbsCO2 gcoz I
LimitingReagentProble

2 O I EE t o I

27 tires 7frames 3Bikes

itigatefrand1050g 401109 G g
Ran out of tires

Tires are the limitingReagent

They limit how muchproductyou
Can make



3Az t Nz 2Ntsc

17.32927228W
If 17.32gHz is reacted with 27.2g Nz

how many grams
of Nts can be produced

What was the limiting reagent

2 Road Maps 2 Stoichiometryproblems
whichisSmaller

Road Map

gal t
inocenzttmolenitzthstallts

gitzmishmoleitzksmolenitzbitga

The smaller one
Camefrom the

Mokes LimitingReagent

Nz 2 14101glade 28.02gmole

Hz 2 1.008 2.016 glmole

MHz 14.01 3 1,008 14.01

1731
17.03g more



3Hz t Nz 2Ntsc

17.32927228W

7.52 Hzxfgtgx feysx ey.tt 98.319866gnitty
4

98.32gNitz

27.32gMaxEigg ÉÉÉxÉÉt 33.843240gnuts
Life 33.19Mt

Smaller of the
two Calcs

33.1g att can be produced

Nz is Limiting reagent

Howmuch Hydrogen is left over

3Hz Nz 2MHz
gconsumed 27.2g

273.2gMaxIgnis ÉÉwxÉg 5EdooogHe

5.87gHzused



17 32 gHz initial

É site unused

apart
isolatedfromexperiment

Percent yield IIEEFE.is moies 100

I whole calculatefromPIF x 100 stoichiometry

If a chemical reaction affords 3.72 g of

ammonia and the theoretical expected
amount was 7.62g ammonia what
was the yield of the run

yield styled100 3724 100

488148897

48.8yietL



In the reaction of hydrogen nitrogen to

form ammonia

3 Hz Nz 2 Nitz

27.2g of Nz was reacted with excess

hydrogen If 28 3g of Nlt was produced

what was the yield of the son

Actual 28.3g of NH3
Theoretical 27,2gNz moleme moleNt gutty

27.2gal xfiyx jttxf.ie ts 33 igattz

yield Effect100 333ft x no

85 4198489

855yitf



Region Reduction

ÉÉÉÉÉIf oxygen or loss of Hydrogen

Reduction Gain of hydrogen or loss of Oxygen

Reduction is gain of e

Pyg
additional e gain

1525254 p gzzzpayz
Reduction

Reactant
gain

My
lossof 35 loss

Al Al't 3 e Oxidation

15252,4353ps 152524353post y
product
loss



Oil oxidation is Loss

Rig Reduction is gain

Howdo we track who is gaining or losingwhen no ions

2Colt t 2502 16CO2 18420

Oxidation Numbers
A set of rules forassigning an oxidation
number

Book keepingmethod for e

Rites
Elements in elemental state are zero

HE 01 Not S Fel

The oxidation number on a monatomic ion

is the same value as charge state
data

027 y
33 pest Fett my

22 I beforvalue
Charge

Combined It in apolyatomic ormolecule is always 1

it'cos colt I'tstoy Itcz't'sa



Combined oxygen is always 2 exceptperoxide I

CoE CoE HGH E HEEE
Rare ChemIA

Combined fluorine is always I

CHzÉ CÉColt

The surf of the oxidation numbers must

add to 0 for a molecule or to the

Charge on apolyatomic ion

of ox
4 1It g EI É City

É C IX Y 4 Zz
O 3 2

11 Coz



Ex
combinedH element combined0 combineditCombinedo

2Colt 258 16 3 181

Assign oxidation based on rules

Calculatethose with no roles

811 8C 186 1 0
8C 18 0

8C 18

C 8 4

Toto c 26 27 0

C 4 0
C 4

the

g y 2 poly atomic Chargesoy
s 8 Z

S the



extra less

an iÉÉÉÉÉÉÉo t is it
Let

0 to 2
equal 2extra Gain

a Iad Essig zitanio Iblis
matai at it is tic

É
ÉN 6 1

NoChange in oxidation number from

products to reactants
not a Redox reaction



Acid Base
Never RedoxDoubleDisplacement

SingleReplacement AlwaysRedoxCombustion

Decomposition
Combination SometimesRedox

element singleelementsymbol elementwith orwithoutsubscript
nocharge 2 1

In zilch Zack HE
CD CD

zÉci

Ici's
I Cl p
Cl I

FtÉÉatt
Zn 244 Zack HI

ReducingAgent Gainelé d
Reduction

ReducingReagent
Reactant Redox Reaction



Need to be able to assign ox

Need to identify if reaction is

oxidation Reduction Redox or not

Identify oxidation half Reduction half


